\

4 .

Mounting plate Copper SB Included fasteners:

4 pcs screw Méx12
Polebox Compact series 4 ps nut M6
E-no: 2700453 j pcs springwasher |\|\//||66 %
Assembly instructions pes screw X

4 pcs nut Mé
All electrical installation work must be carried out by an authorized 8 pcs flatwasher Mé
installer and meet the installation requirements in the country of use. \ /

-
Mounting the EV-charger to the

mounting plate:

Follow the instructions from the vendor. Use the Mé6x50
screws for mounting the charger.

[

Mounting the mounting plate
to the Polebox Compact:

1. Usethe M6x12 screws when mounting the
bracket to the Polebox Compact unit.

2. Connect the charger according to the
instructions from the vendor.

- J

next reen Next Green AB www.nextgreen.se
Brudtallsvdgen 14  info@nextgreen.se
g SE-792 32 MORA
SWEDEN




/
Medféljande fastelement:
Montageplat Copper SB dstskray  Méx12
Polebox Compact serien astmutter MO
2 4 st fjaderbricka M6
E-nr: 790453 . 4 st skruv Méx50
Monteringsanvisning 8stbricka M6
Allt elinstallationsarbete méaste utféras av en auktoriserad installatér 4 st mutter Mé
och uppfylla installationskraven i anvandningslandet. K

e

Montering av EV-laddare:

Montera EV-laddaren pa montageplaten med de medféljande
M6x50 skruvarna. | 6vrigt enligt de instruktioner som medféljer
laddaren.

™

0 [~
SN

/)

U\

4 ™\
Montering montageplat:
1. Anvand de medféljande M6x12 skruvarna
for att montera montageplaten i Polebox
Compact enheten.
2. Kopplainladdaren enligt manualen som
foljer med fran tillverkaren. ]
- J

ne t Next Green AB www.nextgreen.se
Brudtallsvdgen 14  info@nextgreen.se
X green SE-792 32 MORA

SWEDEN



	Bild 1
	Bild 2

